
YOSHIMURA TRI-OVAL SLIP-ON
SUZUKI GSX-R1000K7-8
EEC APPROVED
Metal Magic Sleeve  ; 1A0-508-5H21
Stainless Sleeve       ; 1A0-508-5H51
Titanium Sleeve        ; 1A0-508-5H81
Carbon Sleeve          ; 1A0-508-5H91

Tailpipe, Right
1A5-508-5H50

Tailpipe, Left
1A5-508-5H5A

Clamp Band (51-55)
162-777-5155

Spacer (Black)
850-008B2610

Exhaust Spring
118-001-0000

Exhaust Spring
118-001-0000

Silencer Assy, Left
1A6-508-5H2B  Metal Magic Sleeve
1A6-508-5H5B  Stainless Sleeve
1A6-508-5H8B  Titanium Sleeve
1A6-508-5H9B  Carbon Sleeve

Silencer Assy, Right
1A6-508-5H21  Metal Magic Sleeve
1A6-508-5H51  Stainless Sleeve
1A6-508-5H81  Titanium Sleeve
1A6-508-5H91  Carbon Sleeve

Grommet Rubber
875-019-1208

Flange Nut M8
823-008-1250

Washer M8x26
812-108-2600

Grommet Spacer
859-008-1221

Grommet Spacer
859-008-1221

Cap Bolt M8x50
800-208-5050

Washer M8x26
812-108-2600

Spacer 30-8-9
850-008-30A0

Spacer 23-8-7
850-008-2307

Spacer 23-8-7
850-008-2307

Spacer 30-8-9
850-008-30A0

Washer M8x26
812-108-2600

Cap Bolt M8x50
800-208-5050

Cap Bolt M8x30
800-208-5030E E C  Approved 

SD#39
138-138-3439

SD#38
138-138-3438

Lot Number

Fig.1

Parts Diagram

1

3

4

5

5

6

6
7

78
9

9

10

10

11

11

12

13
13

11

1114

E E C  Approved No.

15

Lot Number 


